

УДК 517.53

P. V. FILEVYCH

**ON RELATIONS BETWEEN THE ABSCISSA OF CONVERGENCE AND
THE ABSCISSA OF ABSOLUTE CONVERGENCE OF RANDOM
DIRICHLET SERIES**

P. V. Filevych. *On relations between the abscissa of convergence and the abscissa of absolute convergence of random Dirichlet series*, Matematychni Studii, **20** (2003) 33–39.

We establish some relations between the abscissa of convergence and the abscissa of absolute convergence of random Dirichlet series and prove their exactness.

П. В. Филевич. *О соотношениях между абсциссой сходимости и абсциссой абсолютной сходимости случайного ряда Дирихле* // Математичні Студії. – 2003. – Т.20, №1. – С.33–39.

Установлены некоторые соотношения между абсциссой сходимости и абсциссой абсолютной сходимости случайного ряда Дирихле и доказана их точность.

1. INTRODUCTION

Let $\lambda = (\lambda_n)$ be a sequence of nonnegative numbers increasing to $+\infty$,

$$\tau(\lambda) = \overline{\lim}_{n \rightarrow \infty} \frac{\ln n}{\lambda_n} < +\infty,$$

and $S(\lambda)$ be the class of Dirichlet series of the form

$$F(s) = \sum_{n=0}^{\infty} a_n e^{s\lambda_n}, \quad s = \sigma + it. \quad (1)$$

For series (1) let $\sigma_c(F)$ be the abscissa of convergence, $\sigma_a(F)$ be the abscissa of absolute convergence, and $\beta(F) = \sup\{\sigma \in \mathbb{R} : |a_n|e^{\sigma\lambda_n} = o(1), n \rightarrow +\infty\}$ ($\beta(F) = -\infty$, if $|a_n|e^{\sigma\lambda_n} \neq o(1), n \rightarrow +\infty$, for every $\sigma \in \mathbb{R}$).

It is known (see for example [1,2,3]) that $\sigma_a(F) \leq \sigma_c(F) \leq \sigma_a(F) + \tau(\lambda)$ and these inequalities are exact. Moreover, the next simple statement is valid. For convenience, we give it with proof, although it is known.

2000 *Mathematics Subject Classification*: 30B50.

Theorem A.

(i) For each Dirichlet series $F \in S(\lambda)$,

$$\sigma_a(F) \leq \sigma_c(F) \leq \beta(F) \leq \sigma_a(F) + \tau(\lambda). \quad (2)$$

(ii) For every $a, b, c \in [-\infty, +\infty]$ such that

$$a \leq c \leq b \leq a + \tau(\lambda),$$

there exists a Dirichlet series $F \in S(\lambda)$ such that $\sigma_a(F) = a$, $\sigma_c(F) = c$ and $\beta(F) = b$.

Let (Ω, \mathcal{A}, P) be a probability space and (ξ_n) be a sequence of independent random variables in this space. For a random variable ξ let $M\xi = \int_{\Omega} \operatorname{Re} \xi(\omega) P(d\omega) + i \int_{\Omega} \operatorname{Im} \xi(\omega) P(d\omega)$ be its mean value and $D\xi = M(|\xi - M\xi|^2)$ be its dispersion.

We consider the random Dirichlet series

$$F_{\omega}(s) = \sum_{n=0}^{\infty} \xi_n e^{s\lambda_n}. \quad (3)$$

It follows from the zero-one law that $\sigma_a(F_{\omega})$, $\sigma_c(F_{\omega})$ and $\beta(F_{\omega})$ are constants from $[-\infty, +\infty]$ a.s. These constants will be denoted by $\hat{\sigma}_a(F_{\omega})$, $\hat{\sigma}_c(F_{\omega})$ and $\hat{\beta}(F_{\omega})$, respectively.

Consider the Dirichlet series

$$F(s) = \sum_{n=1}^{\infty} \varepsilon_n n^s, \quad (4)$$

where $\varepsilon_n \in \{-1, 1\}$ for $n \geq 1$. As it is easily seen, $\sigma_a(F) = -1$, $\lambda_n = \ln(n+1)$ for $n \geq 0$, and $\tau(\lambda) = 1$. If $\varepsilon_n = 1$ for $n \geq 1$, we obtain $\sigma_c = \sigma_a$. If $\varepsilon_n = (-1)^n$ for $n \geq 1$, we have $\sigma_c = \sigma_a + \tau(\lambda) = 0$. But, it follows from the next assertion that for the ‘‘majority’’ of Dirichlet series (4), $\sigma_c(F) = \sigma_a(F) + \frac{\tau(\lambda)}{2}$.

Theorem B [4]. *Let (ξ_n) be a Rademacher sequence, i.e. each ξ_n takes the values $+1$ and -1 with equal probability $\frac{1}{2}$, and let $\lambda_n = \ln(n+1)$ for every $n \geq 0$. Then for Dirichlet series (3) we obtain $\hat{\sigma}_c(F_{\omega}) = -\frac{1}{2}$.*

Since for the Dirichlet series from Theorem B we have

$$M(\xi_n e^{s\lambda_n}) = 0, \quad \sum_{n=0}^{\infty} D(\xi_n e^{s\lambda_n}) = \sum_{n=0}^{\infty} e^{2\sigma\lambda_n},$$

and the last series converges for $\sigma < -\frac{1}{2}$ and diverges for $\sigma \geq -\frac{1}{2}$, Theorem B is an obvious corollary from

Theorem C [5, p.54]. *Let (η_n) be a sequence of independent random variables and*

$$\eta'_n(\omega) = \begin{cases} \eta_n(\omega), & \text{if } |\eta_n(\omega)| \leq 1; \\ \frac{\eta_n(\omega)}{|\eta_n(\omega)|}, & \text{if } |\eta_n(\omega)| > 1. \end{cases}$$

The series $\sum_{n=0}^{\infty} \eta_n$ converges a.s. if and only if the series $\sum_{n=0}^{\infty} M\eta'_n$ and $\sum_{n=0}^{\infty} D\eta'_n$ converge.

In this paper, using Theorem C, we generalize Theorem B. Let

$$G(s) = \sum_{n=0}^{\infty} a_n^2 e^{2s\lambda_n}, \quad (5)$$

and

$$F_\omega(s) = \sum_{n=0}^{\infty} \eta_n a_n e^{s\lambda_n}, \quad (6)$$

where a_n are coefficients of series (1) and (η_n) is a sequence of independent random variables.

Theorem 1. *Let (η_n) be a sequence of independent random variables such that $c_1 \leq |\eta_n(\omega)| \leq c_2$ a.s., where c_1 and c_2 are positive constants, and $M\eta_n = 0$ for every $n \geq 0$.*

(i) *For random Dirichlet series (6) we have*

$$\hat{\sigma}_a(F_\omega) \leq \frac{\hat{\sigma}_a(F_\omega) + \hat{\beta}(F_\omega)}{2} \leq \hat{\sigma}_c(F_\omega) \leq \min \left\{ \hat{\sigma}_a(F_\omega) + \frac{\tau(\lambda)}{2}, \hat{\beta}(F_\omega) \right\}. \quad (7)$$

(ii) *For every $a, b, c \in [-\infty, +\infty]$ such that*

$$a \leq \frac{a+b}{2} \leq c \leq \min \left\{ a + \frac{\tau(\lambda)}{2}, b \right\}, \quad (8)$$

there exists a sequence (a_n) of complex numbers such that for random Dirichlet series (6) we have $\hat{\sigma}_a(F_\omega) = a$, $\hat{\sigma}_c(F_\omega) = c$, and $\hat{\beta}(F_\omega) = b$.

Theorem 1 follows immediately from Theorem C and

Theorem 2. (i) *For Dirichlet series (1) and (5) we have*

$$\sigma_a(F) \leq \frac{\sigma_a(F) + \beta(F)}{2} \leq \sigma_a(G) \leq \min \left\{ \sigma_a(F) + \frac{\tau(\lambda)}{2}, \beta(F) \right\}. \quad (9)$$

(ii) *For every $a, b, c \in [-\infty, +\infty]$ such that inequalities (8) are valid, there exists a sequence (a_n) of complex numbers such that for Dirichlet series (1) and (5) we have $\sigma_a(F) = a$, $\sigma_a(G) = c$, and $\beta(F) = b$.*

We apply Theorem 1 to the proofs of next assertions.

Theorem 3. (i) *If ξ_n are symmetric independent random variables, then for random Dirichlet series (3) inequalities (7) are valid.*

(ii) *For every $a, b, c \in [-\infty, +\infty]$ such that inequalities (8) are valid, there exists a sequence (ξ_n) of symmetric independent random variables such that for random Dirichlet series (3) we have $\hat{\sigma}_a(F_\omega) = a$, $\hat{\sigma}_c(F_\omega) = c$, and $\hat{\beta}(F_\omega) = b$.*

Theorem 4. *Let (ξ_n) an arbitrary sequence of independent random variables. Then, for random Dirichlet series (3), either inequalities (7) are valid or there exists a usual Dirichlet series (1) with $\sigma_c(F) = \hat{\sigma}_c(F_\omega)$, $\sigma_a(F) = \hat{\sigma}_a(F_\omega)$ and $\beta(F) = \hat{\beta}(F_\omega)$ such that, for series $F'_\omega = F_\omega - F$,*

$$\hat{\sigma}_a(F'_\omega) \leq \frac{\hat{\sigma}_a(F'_\omega) + \hat{\beta}(F'_\omega)}{2} \leq \hat{\sigma}_c(F'_\omega) \leq \min \left\{ \hat{\sigma}_a(F'_\omega) + \frac{\tau(\lambda)}{2}, \hat{\beta}(F'_\omega) \right\}.$$

The proofs of Theorems 3 and 4 are similar to the proof of the next J.-P. Kahane's theorem [5, p. 62–64].

Theorem D [5]. *Let $-\infty < \sigma_c(F_\omega) < +\infty$.*

- (i) *If the variables ξ_n are symmetric, then the straight line $\{s : \operatorname{Re} s = \sigma_c(F_\omega)\}$ a.s. is the natural boundary for series (3).*
- (ii) *In general case, either the straight line $\{s : \operatorname{Re} s = \sigma_c(F_\omega)\}$ is a.s. the natural boundary for F_ω or there exists a usual Dirichlet series (1) with $\sigma_c(F) = \hat{\sigma}_c(F_\omega)$ such that the straight line $\{s : \operatorname{Re} s = \sigma_c(F_\omega - F)\}$ is a.s. the natural boundary for $F_\omega - F$ and $\hat{\sigma}_c(F_\omega - F) > \hat{\sigma}_c(F_\omega)$.*

We note that Theorem B generalizes the well known results of Ryll-Nardzewski [6].

Theorems A and 2 are trivial in the cases $\sigma_a(F) = \pm\infty$ or $a = \pm\infty$. In the sequel, we assume that $-\infty < \sigma_a(F) < +\infty$ and $-\infty < a < +\infty$.

2. PROOF OF THEOREM A

- (i) The first and second inequalities of (2) are obvious. The third inequality follows from inequalities (9), which we prove below.
- (ii) We use next

Lemma [7]. *In every sequence λ such that $\tau(\lambda) \geq \tau^* \geq 0$, there exists a subsequence λ^* such that $\tau(\lambda^*) = \tau^*$.*

Let $\tau^* = b - a$. Then $\tau(\lambda) \geq \tau^* \geq 0$. We select from the sequence λ a subsequence $\lambda^* = (\lambda_k^*)$ such that $\tau(\lambda^*) = \tau^*$. Put

$$F_1(s) = \sum_{k=0}^{\infty} (-1)^k e^{\sigma \lambda_k^*}, \quad F_2(s) = \frac{1}{2} \sum_{k=0}^{\infty} e^{(a-c)\lambda_k^*} e^{\sigma \lambda_k^*}, \quad F_3(s) = F_1(s) + F_2(s).$$

Then we obtain consequently that $\sigma_a(F_1) = -\tau^*$, $\sigma_c(F_1) = 0$, $\sigma_a(F_2) = \sigma_c(F_2) = -\tau^* - a + c$, $\sigma_a(F_3) = -\tau^*$, $\sigma_c(F_3) = -\tau^* - a + c$, $\beta(F_3) = 0$. Hence, if $F(s) = F_3(s - a - \tau^*)$, we have $\sigma_a(F_4) = a$, $\sigma_c(F_4) = c$, $\beta(F_3) = a + \tau^* = b$ and $F \in S(\lambda^*) \subset S(\lambda)$. Theorem A is proved.

3. PROOF OF THEOREM 2

- (i) Let

$$\sigma < \frac{\sigma_a(F) + \beta(F)}{2}, \quad \varepsilon = \frac{\sigma_a(F) + \beta(F) - 2\sigma}{2}.$$

Then $\varepsilon > 0$ and $2\sigma - \beta(F) + \varepsilon = \sigma_a(F) - \varepsilon < \sigma_a(F)$. Hence,

$$\sum_{n=0}^{\infty} |a_n| e^{(2\sigma - \beta(F) + \varepsilon)\lambda_n} < \infty. \quad (10)$$

Furthermore,

$$|a_n| e^{(\beta(F) - \varepsilon)\lambda_n} \leq 1, \quad n \geq n_0. \quad (11)$$

Using (10) and (11) we obtain

$$\sum_{n=n_0}^{\infty} |a_n|^2 e^{2\sigma\lambda_n} = \sum_{n=n_0}^{\infty} |a_n| e^{(\beta(F)-\varepsilon)\lambda_n} |a_n| e^{(2\sigma-\beta(F)+\varepsilon)\lambda_n} \leq \sum_{n=n_0}^{\infty} |a_n| e^{(2\sigma-\beta(F)+\varepsilon)\lambda_n} < \infty,$$

i.e., series (5) converges. Hence, the second inequality of (9) is proved (the first one is obvious).

We prove the third inequality. Assume, contrary to this inequality, that

$$\delta = \frac{1}{3} \left(\sigma_a(G) - \sigma_a(F) - \frac{\tau(\lambda)}{2} \right) > 0.$$

(The inequality $\sigma_a(G) \leq \beta(F)$ is obvious.)

Since $\ln n \leq (\tau + \delta)\lambda_n$ for each $n \geq n_1$, we have

$$\sum_{n=n_1}^{\infty} e^{-(\tau+2\delta)\lambda_n} \leq \sum_{n=n_1}^{\infty} n^{-\frac{\tau+2\delta}{\tau+\delta}} < \infty. \quad (12)$$

Furthermore,

$$\sum_{n=0}^{\infty} |a_n|^2 e^{2(\sigma_a(G)-\delta)\lambda_n} < \infty. \quad (13)$$

Thus, by the Cauchy–Bunyakovsky inequality, (12) and (13), we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} |a_n| e^{(\sigma_a(F)+\delta)\lambda_n} &= \sum_{n=0}^{\infty} |a_n| e^{(\sigma_a(G)-\delta)\lambda_n} e^{-\frac{\tau(\lambda)+2\delta}{2}\lambda_n} \leq \\ &\leq \left(\sum_{n=0}^{\infty} |a_n|^2 e^{2(\sigma_a(G)-\delta)\lambda_n} \right)^{\frac{1}{2}} \left(\sum_{n=0}^{\infty} e^{-(\tau(\lambda)+2\delta)\lambda_n} \right)^{\frac{1}{2}} < \infty, \end{aligned}$$

that contradicts to the definition of $\sigma_a(F)$.

(ii) First we consider the case

$$a \leq b \leq a + \frac{\tau(\lambda)}{2}.$$

Let $\tau' = 2(c - a)$, $\gamma = a + b - 2c$. Then, $\gamma \leq 0$ and $0 \leq \tau' \leq \tau$.

Now, by Lemma, we select from the sequence λ a subsequence $\lambda' = (\lambda'_k)$ such that $\tau(\lambda') = \tau'$. Let (k_p) be a increasing sequence of nonnegative integers such that for the series

$$F_1(s) = \sum_{p=0}^{\infty} e^{s\lambda'_{k_p}}$$

we have $\sigma_a(F_1) = 0$.

Set $a_k = 1 + e^{\gamma\lambda'_k}$ if $k = k_p$ and $a_k = e^{\gamma\lambda'_k}$ in the other cases. Consider the Dirichlet series

$$F_2(s) = \sum_{k=0}^{\infty} a_k e^{s\lambda'_k} = \sum_{p=0}^{\infty} e^{s\lambda'_{kp}} + \sum_{k=0}^{\infty} e^{(s+\gamma)\lambda'_k},$$

$$G_2(s) = \sum_{k=0}^{\infty} a_k^2 e^{2s\lambda'_k} = \sum_{p=0}^{\infty} (1 + 2e^{\gamma\lambda'_{kp}}) e^{2s\lambda'_{kp}} + \sum_{k=0}^{\infty} e^{2(s+\gamma)\lambda'_k}.$$

It is clear that $\beta(F_2) = 0$, $\sigma_a(F_2) = -\tau' - \gamma = a - b$, and $\sigma_a(G_2) = -\frac{\tau'}{2} - \gamma = c - b$. Hence, for the series $F(s) = F_2(s - b)$ and $G(s) = G_2(s - b)$ we have $\beta(F) = b$, $\sigma_a(F) = a$, and $\sigma_a(G_2) = c$.

Next, we assume that

$$a + \frac{\tau(\lambda)}{2} \leq b \leq a + \tau(\lambda).$$

Set $\tau'' = 2(b - c)$. Then, $0 \leq \tau'' \leq \tau$. Let $\lambda'' = (\lambda''_n)$ be a subsequence of λ such that $\tau(\lambda'') = \tau''$. Consider the Dirichlet series

$$F_1(s) = \sum_{n=0}^{\infty} e^{-(a+\tau)\lambda_n} e^{s\lambda_n}, \quad G_1(s) = \sum_{n=0}^{\infty} e^{-2(a+\tau)\lambda_n} e^{2s\lambda_n},$$

$$F_2(s) = \sum_{n=0}^{\infty} e^{-(2c-b+\tau'')\lambda''_n} e^{s\lambda''_n}, \quad G_2(s) = \sum_{n=0}^{\infty} e^{-2(2c-b+\tau'')\lambda''_n} e^{2s\lambda''_n}.$$

For this series we have

$$\sigma_a(F_1) = -\tau + a + \tau = a, \quad \sigma_a(G_1) = -\frac{\tau}{2} + a + \tau = a + \frac{\tau}{2}, \quad \beta(F_1) = a + \tau,$$

$$\sigma_a(F_2) = -\tau'' + 2c - b + \tau'' = 2c - b \geq a + b - b = a,$$

$$\sigma_a(G_2) = -\frac{\tau''}{2} + 2c - b + \tau'' = c, \quad \beta(F_2) = 2c - b + \tau'' = b.$$

Let

$$F(s) = \sum_{n=0}^{\infty} a_n e^{s\lambda_n} = F_1(s) + F_2(s), \quad G(s) = \sum_{n=0}^{\infty} a_n^2 e^{2s\lambda_n}.$$

Since $a_n \geq 0$ for $n \geq 0$, we obtain $\sigma_a(F) = \min\{\sigma_a(F_1), \sigma_a(F_2)\} = a$, $\sigma_a(G) = \min\{\sigma_a(G_1), \sigma_a(G_2)\} = c$, and $\beta(F) = \min\{\beta(F_1), \beta(F_2)\} = b$. The proof of Theorem 2 is complete.

4. PROOF OF THEOREM 3

(i) Let (ξ_n) be a sequence of independent symmetric random variables in a probability space $(\Omega, \mathcal{A}, \mathbb{P})$ and (ε_n) be a Rademacher sequence in a probability space $(\Omega', \mathcal{A}', \mathbb{P}')$. Consider series (3) and the series

$$F_{(\omega', \omega)}(s) = \sum_{n=0}^{\infty} \varepsilon_n \xi_n e^{s\lambda_n}$$

in the probability space $(\Omega' \times \Omega, \mathcal{A}' \times \mathcal{A}, \mathbb{P}' \times \mathbb{P})$. Note that $\hat{\beta}(F_{(\omega', \omega)}) = \hat{\beta}(F_\omega)$ and $\hat{\sigma}_a(F_{(\omega', \omega)}) = \hat{\sigma}_a(F_\omega)$, by Fubini's theorem, and $\hat{\sigma}_c(F_{(\omega', \omega)}) = \hat{\sigma}_c(F_\omega)$, by the reduction principle [1, p. 20].

For every fixed $\omega \in \Omega$ and for almost all $\omega' \in \Omega'$, by Theorem 2,

$$\begin{aligned} \sigma_a(F_{(\omega',\omega)}) &\leq \frac{\sigma_a(F_{(\omega',\omega)}) + \beta(F_{(\omega',\omega)})}{2} \leq \sigma_c(F_{(\omega',\omega)}) \leq \\ &\leq \min \left\{ \sigma_a(F_{(\omega',\omega)}) + \frac{\tau(\lambda)}{2}, \beta(F_{(\omega',\omega)}) \right\}. \end{aligned} \quad (14)$$

By Fubini's theorem, inequalities (14) are fulfilled a.s. in $\Omega' \times \Omega$, and this implies (7).

(ii) This part of Theorem 3 follows from (ii) of Theorem 1 in the case $(\eta_n) = (\varepsilon_n)$, where (ε_n) is a Rademacher sequence.

5. PROOF OF THEOREM 4

Let (ξ_n) be a sequence of independent random variables in a probability space $(\Omega, \mathcal{A}, \mathbb{P})$ and $\eta_n(\omega', \omega) = \xi_n(\omega) - \xi_n(\omega')$ for every $n \geq 0$ and $(\omega', \omega) \in \Omega \times \Omega$. Then (η_n) is a sequence of independent symmetric random variables in the probability space $(\Omega \times \Omega, \mathcal{A} \times \mathcal{A}, \mathbb{P} \times \mathbb{P})$. Consider the series

$$F_{(\omega',\omega)}(s) = F_\omega(s) - F_{\omega'}(s) = \sum_{n=0}^{\infty} (\xi_n(\omega) - \xi_n(\omega')) e^{s\lambda_n}.$$

Applying (i) of Theorem 3, we see that for this series inequalities (14) hold a.s. in $\Omega \times \Omega$. By converse Fubini's theorem, there exists a fixed $\omega' \in \Omega$ such that for almost all $\omega \in \Omega$ and for the series $F(s) = F_{\omega'}(s)$ the relations $\sigma_a(F) = \sigma_a(F_\omega)$, $\sigma_c(F) = \sigma_c(F_\omega)$, $\beta(F) = \beta(F_\omega)$ and (14) are valid. This completes the proof of Theorem 4.

REFERENCES

1. Мандельбройт С. Ряды Дирихле, принципы и методы. – М.: Мир, 1973.
2. Леонтьев А.Ф. Ряды экспонент. – М.: Наука, 1976.
3. Шеремета М.М. Цілі ряди Діріхле. – К.: ІСДО, 1993.
4. Kahane J.-P. *Sur les series de Dirichlet* $\sum_1^\infty \pm n^{-s}$ // C. R. Acad. Sci. Paris, Sér. A-B.– 1973.– V.276.– P. 739–742.
5. Кахан Ж.-П. Случайные функциональные ряды.– М.: Мир, 1973.
6. Ryll-Nardzewski C. *D.Blackwell's conjecture on power series with random coefficients* // Studia Math.– 1953.– V.13.– P. 30–36.
7. Шеремета М.Н. *О поведении максимума модуля целого ряда Дирихле вне исключительного множества* // Матем. заметки.– 1995.– Т.57, №2.– P. 283–296.

Faculty of Mechanics and Mathematics,
Lviv Ivan Franko National University

Received 3.03.2003